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Question # 4 of 10 ( Start teme 01 1945 PM. 13 August 2021)

A curve C is said to be & contour if it is constructed by joining finitely many smooth curves end to end.
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If function f is an analytic function in simple connected domain where Cp(z,) = {z(1) : |z — 2z, = R},0< t < 27
and I be the radius of cirele, then
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Question # 4 of 10 ( Start teme 01 19 45 PM. 13 August 2021)

A curve C 1s said to be a contour if i is constructed bypiningﬁ!ﬂefymunyénbu{hépﬁ;gsmdlaerﬂ.

Select the corect option
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If the interior of every simple closed contour C is contained
in the domain D, then domain Is said to be....
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If function f is an analytic function in simple connected domain where Cg(z,) = {=(t)
and It be the radius of cirele, then

tlz—2z4| = R},0€< L < 2

Select the correct option

i "

o [lz) = ?“f flzo + Re" )dt
LT

O V J(20) = E“/ﬂ:ﬂ + Re" )dt
1 T

O J(2) = EI../ f(zo + Re' )dt
l r of

O J(z0) = =y f(z, + Re')dt
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Mathematically, the functions in Green’s theorem will be
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